Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of Political Party, if any: NEIDP

Name of the Candidate: Ashang kasar Constituency from which contested: Phungyar At Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L.S. Solory

Total expenditure incurred / authorized:

G/T-24610062+4630=250730.62

Annexure-E

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remark:=
	Description	Qty.	Rate per unit							
5/4/19	Diesel	24.13	62.10	1500	service station	73	1500	_		
5/4/19	Diesel	14.31	62.19	890	pur High	74	890			
5/4/19	pipe	2	-	190	V.M Maruti	75	196	_		
5/4/19	Adhesive	J	50	50	store	76	50		1	
5/4/19	Chicken	10	200	2000	someten chicken spork centre	77	2680			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result). Ashang Kasar

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting andidates

Name of the Candidate: Askong Kasar
Constituency from which contested: Phungyar Ac
Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 10 776/2

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

Name of Political Party, if any: NEIDP

G/T-250730.62+6146 = 256876.62

021

Annexure-E1

1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
5/4/19	stamp	1	100	100	3 C	78	100	_		
5/4/19	motorputs	_	-	3046	Monipor Diesel spare	79	3046	_		
5/4/19	Vehicle hiring	-	-	3000	Hopeson	80	3680	_	_	
		1	/		1					
	7		/							

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Askay Kasar, Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate

Name of the Candidate: Ashang kasar
Constituency from which contested: Phungyar Ac
Date of Declaration of Result: 23/05/19

Name of Political Party, if any: NEIDP

G/T-256876.62+8938.76=255815.38

02

Annexure-

Name and address of Election Agent: L. S. Solony Total expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	ture/ Nature of expenditure nt Rate per		diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remark if any
	Description	Qty.	Rate per unit							
6/4/19	Petrol	17.38	69.05	1200	Indian	81	1200			
6/4/19	Petrol	44.15	69.05	3049	M/3 Manipo Highways sorvice	82	30.49			
6/4/19	Petrol	9,41	69.05	649.76	Indian	83	649.76			
4 4	Diesel	64.91	62.24	4040	Me Mani- pur High- ways sorvice	84	4646			
1 1 1	Motorparts	-	-	300	Shri Bish-	85	300			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certifica to be furnished after the date of declaration of result).

Askay Kasar, Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashong kasar
Constituency from which contested: Phungyar
Date of Declaration of Result: 23/05/19

Name of Political Party, if any: NEIDP

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 149 38.76/2

G/T-265815.38+5700 = 271515.38

023

Annexure-E1

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
6/4/19	mobil	_	-	200	shri sichny sutomobile	86	200			
6/4/19	Noticle hiring	1	-	2500	Khathing	87	2500			
6/4/19	Vehicle hiring)	-	3000	Hopeson	88	3000			
			/			,	5700			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result). Ashary Kasar.

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashong kasar
Constituency from which contested: Phungyar AL
Date of Declaration of Result: 23/05/19

Name of Political Party, if any: NEIDP

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 8500/2

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

G/T-271515.38+8500 = 280015.38

024

Annexure-E1

1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature o	of expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
7/4/19	Diesel	24.13	62.16	1500	NRL Energy Station	89	1500			
7/4/19	Diesel	32.19	62.16	2500	-40-	90	2000			
7/4/19	reticle	1	-	2500	Albar	91	2500	4		
7/4/19	Vehicle	1	-	2500	Thang-	92	2500			
1111	0		1		1		. 8500			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificates to be furnished after the date of declaration of result).

Ashay Kasar.
Signature of the candidate

Annexure-E

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashang kasar Constituency from which contested: Phungyar AC

Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 6080/2

Name of Political Party, if any: NEIDP Public meeting (Flag holesting) G/T - 2800 15.38+6080 = 286695.38

02:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	of expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
29/3/19.	L/Speaker	Winter.		2000	Aublic					
Chale Enly	Platform	1.exs	.6	768	-do-					
	Flag	1/big)	10	10	do-					
	Flag:	10(m)	5	50	-do-					
	Hoarding	347	12	252	-do-					

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Askang Kasar

Constituency from which contested: Phungyar AC

Date of Declaration of Result: 28/05/19

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 5750/2

Name of Political Party, if any: NEIDP
Public meeting (Flag Horsting)

FIT- 286095.38+3750 = 291845.38

02

Annexure-E

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
1	Bamboo	1	50	50						
late lentry)	Bamboo	16	50	500						
	Chair	800	5	4000						
	Sofa	2	300	600						
	Table	6	100	600						

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Additional Ageri Yum Expection The sor Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashang kasar Constituency from which contested: Phungyar Ac

Date of Declaration of Result: 23/05/19

Name and address of Election Agent 4. S. Selony
Total expenditure incurred / authorized: 39600/2

Name of Political Party, if any: NEIDP

GT-291845.38+39600 = 331445.38

027

Annexure-E1

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	and address	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
5/4/19	Scorpio	1(8day)	1650	13200	permitted vehicles					
Late Kulty)	Bolero	1 (8 days	1650	13200	-do-					
	Scorpio	1 (3 days)	1650	13200	-do-					
				39600						
			1	/						

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result). Additional Agent

Annexure-F

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate

Name of the Candidate: Ashang karar

Constituency from which contested: Phungyar

Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 19454/2

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

Name of Political Party, if any: Public Meeting at Ukhongshang Kangjerling G/T-831445.38 + 19454 = 3508 99.38

02

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	of expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
07/04/19	Stage/Ploton	20'x2	30	7200						
(Late entry)	Banner	16×6	36	3456						
	Podium	(4'x2)	6	48						
	Llapeaker with ampli- fier mic	1set	5000	5000						
	carpet	15/4×16)	250	3750						

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Additional Agent

p. Japonburg 1 9/14/19

Annexure-E

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashang Kasar Constituency from which contested: Phungyar Date of Declaration of Result: 23/05/19

Name and address of Election Agent: 2.5 Solony

Total expenditure incurred / authorized: 17260/2

Name of Political Party, if any: NEIDP Public meeting at Whongshong Kongjei burgers

G/T-350899.38+17260 = 368159,38

029

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
Hy/19 Lete entry	mat plastic/ Read	8	20	160						
	video consattes	2	200	400						
	Semiana	15(36,446	600	9000						
	Chair plastic	1500	5	7500						
	Cutout Sign board	9(243)	25	200						

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result). Additional Agent

Guranungchun Jhasar Signature of the candidate

Annexure-1

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate

Name of the Candidate: Ashang kasar Constituency from which contested: Phungyar

Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 23660/2

Name of Political Party, if any: NEIDP THOUBAND forblic meeting at Ukhongshang Kang Jubung 6/T-368159.38+23600 = 391759.38

03

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature of expenditure		4	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remark if any	
	Description	Qty.	Rate per unit							
7/4/19	Dori	2 (20'x90')	50	100						
Late only)	Generalor	1	2500	2500						
	Bamboo with	220	60	15,400						
	greation of Gate	1	600	600						
	mineral	500	10	5000						

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificat to be furnished after the date of declaration of result).

Additional Agent Fundame Laso Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashang kasar Constituency from which contested: Phungyar

Name of Political Party, if any: NEIDP

Date of Declaration of Result: 25/05/19

Name and address of Election Agent: 4.8. Solony

Total expenditure incurred / authorized: 8850/2

9/7-391759.38+3800 = 400559.38

031

Annexure-E1

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature o	of expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
8/4/19	Diesel	32.07	62.36	2000	M/sunited Bhother's oil Agency	93	2000			
8/4/19	Petrol	75,32	69,04	5200	NRL Energy Station	94	5200			
8/4/19	Diesel	25.70	62.26	1600	+do-	95	1600			
			/	/			8860			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Signature of the candidate

p. Japadus 1 gly 19

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashang Karan
Constituency from which contested: Phungyar
Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 1450/2

Name of Political Party, if any: NEIDP

Public meeting (Flag Hoisting)

G/T-400559. 38+1450 = 402009.38

032

Annexure-E1

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	9 Remarks, if any
Date of expenditure/ event									
	Description	Qty.	Rate per unit						
	corpet	2	250	500					
	Karnat	4	50	200					
	nineral water	12	20	240					
	Banner	3,410	12	360					
	Chair	30	5	150					

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).